Albite (NaAlSi3Og, S6g) Structure:
ABC8D3_aP26_21.1 81 31-001

This structure originally had the label ABC8D3_aP26_2_i_i_8i_3i. Calls to that address will be redirected here.
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aflow --proto=ABC8D3_aP26_2_i_i_8i_3i-001

__params=a7b/a7c/a,a7ﬂ7Vaxhyla 21,2,Y2,22,%3,Y3,23,T4,Y4,24,T5,Y5, 25, L6, Y6,
265 L7, Y7, 27, T8, Y8y 285, L9, Y9, 29, 105 Y10, 2105 11, Y11, 211, 12, Y12, 212, 13, Y13, 213

e We used the 13K data from (Smith, 1986), however they present their data in space group C1, which doubles the
primitive unit cell compared to the standard space group P1 #2. We used findsym to convert from the presented cell to
the conventional cell. This involved a rotation of the cell, e.g., the original ¢ axis is the a axis in our standard primitive

cell.

e Technically this is “low” albite. In high albite the silicon and aluminum atoms are mixed over all four sites, as in sandine
(S67). Indeed, under some conditions albite crystals are seen in the sandine structure (Winter, 1979). See the albite
entry in (Downs, 2003) for other experimental work.
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Triclinic primitive vectors

a; aX al
az bcosyX + bsinyy =
as czX+cyy+e.z
Ca ccos 3
Cy c(cos o — cos S cosy) /siny
Cs ct—ci—c2
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B T1a; + yas + 21 a3 (axy + by cosy +cpz1) X+ (21) All
(byrsiny +cyz1) ¥+ c.21 2
B- —r1a; — Yy as — 21 a3 — (ax1 + by cosy + cp21) X — (2i) All
(byr siny + cyz1) § — c.21 2
Bs Toaj + yYp as + 29 a3 (axe + bys cosy + cp22) X+ (21) Na I
(byasiny + cyz2) ¥+ c.20 2
B4 —Iga; — Yz as — 23 as — (ax2 + bya cosy + cp29) X — (2i) Na I
(byasiny + cyz2) § — c20 2
B; T3a; + yzas + 23 ag (axs + byz cosy + cpz3) X + (21) Ol1I
(byssiny + cyz3) ¥ + c.23 2
Bg —x3a; — Yysas — 23 as — (azs + bys cosy + cp2z3) X — (2i) Ol
(byssiny + cyz3) ¥ — c.232
B~ T4a1 +ysas + 24 ag (axg + byscosy + cpzq) X+ (21) oIl
(byasiny + cyza) §+ .24 Z
Bs —x4a] —Ygag — 2483 — (azq + bygcosy + cp2zq) X — (21) O1II
(byasiny +cyz4) ¥ — 224 2
By T5a + ys as + 25 as (azs + bys cosy + ¢ 25) X + (21) O III
(bys siny + cyz5) § + c.25 Z
Bio —T5a; — Ysas — 25 as — (azs5 + bys cosy + cp25) X — (21) O III
(byssiny + cyz5) ¥ — c.25 2
Bi: Tgay + yg as + 2g as (azg + bys cOsy + cr26) X + (21) o1V
(bys siny + cyz6) § + c.26 Z
B2 —Tgal — Ygas — 26 as — (azg + byg cosy + cp26) X — (21) o1V
(bys siny + cyz6) ¥ — €226 Z
Bis rra; +yraz + z7ag (aw7 + byr cosy + cp2r) X + (2i) oV
(byzsiny + cyz7) § + co27 2
Bia —x7a; — yrag — z7as — (ax7 4+ by cosy + cp27) X — (21) ovVv
(byrsiny + cyz7) § — 272
Bis Tgaj + ysas + zgas (axg + byg cosy + cp28) X + (2i) O VI
(byssiny + cyzg) ¥ + c.28 2
Bis —rga; — ygas — 2gas — (axs + bys cosy + cp28) X — (21) O VI
(byssiny + cyzg) § — c.28 Z
B~ Tgaj + ygas + 29 as (axg + byg cosy + cpz9) X + (2i) O VII

(byo siny + ¢yz0) § + 2202



Blg = —Tgal —Ygaz — Zgag = - (al‘g + byg COs 7y + CJCZQ) X — (21) O VII
(bygsiny + cyz9) ¥ — .29 Z

By = T1p a1 + Y10 @z + 210 a3 = (az1p + by1o cOs 7y + cz210) X + (2i) O VIII
(byrosiny + ¢yz10) ¥ + c.2102

By = —T10AQ1 — Yipaz — z104a3 = — (CLJZl() + bylo Ccos 7y + sz’l()) X — (21) O VIII
(by1osiny + cyz10) ¥ — c2210 2

Bz, = r11a1 + Y1 az +211a;3 = (az11 + byr1 cosy + cp211) X + (2i) Sil
(byrysiny + cyz11) ¥+ c.211 2

B = —Z11a1 —Y11az — 21143 = —(az11 + byii cosy +czz11) X — (21) Sil
(byr1siny + cyz11) § — 2211 2

B23 = Tig2 a1 + Y12 Az + z12 a3 = (axu + by12 COs 7y + Cm212) X + (21) Si Il
(by12siny + cyz12) ¥ + c.212 2

Bay = —Ti2a1 — Y122 — 21233 = = (az12 + byrz cosy + co212) X — (20) Si Il
(byr2siny + cyz12) § — 22122

B25 = T13ag —+ Y13 Az —+ Z13 as = (a(Elg —+ bylg COSs ’)/ —+ szlg) 5( + (21) Sl III
(byizsiny + cyz13) § + 2132

By = —ZTi3a1 —Yi3a2 — 2134a3 = — (axy3 + byiz cosy + C;p213) X — (21> Si III
(byizsiny + cyz13) ¥ — 2132
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